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1. Area bounded by the curve 𝑦 = (𝑥 ― 1)(𝑥 ― 2)(𝑥 ― 3) and 𝑥-axis lying between the ordinates 𝑥 = 0 and 𝑥 = 3 is equal to

a) 9/4 b)11/4 c) 11/2 d)7/4

2. The area of the region bounded by the curves 𝑦 = 𝑒𝑥, 𝑦 = log𝑒𝑥 and lines 𝑥 = 1, 𝑥 = 2 is

a) (𝑒 ― 1)2 b)𝑒2 ― 𝑒 + 1 c) 𝑒2 ― 𝑒 + 1 ― 2log𝑒2 d)𝑒2 + 𝑒 ― 2 log𝑒2
3. The value of 𝑘 for which the area of the figure bounded by the curve 𝑦 = 8 𝑥2 ― 𝑥5, the straight 

line 𝑥 = 1 and 𝑥 = 𝑘 and the 𝑥-axis is equal to 16/3

a) 2 b)
3

8 ― 17 c) 3 d) ―1

4. The area bounded by the curve 𝑦 = 𝑥, 𝑥-axis and ordinates 𝑥 = ―1 to 𝑥 = 2, is

a) 0 sq unit b)1/2 sq unit c) 3/2 sq unit d)5/2 sq unit

5. The area (in square unit) of the region bounded by the curves 2𝑥 = 𝑦2 ―1 and x = 0 is 

a)
1

3
 sq unit b)

2

3
 sq unit c) 1 sq unit

d)2 sq units

6. The area bounded by the curve 𝑦 = 4𝑥 ― 𝑥2 and the 𝑥-axis, is

a)
30

7
 sq. units b)

31

7
 sq. units c)

32

3
 sq. units d)

34

3
 sq. units

7. The volume of the solid generated by revolving the region bounded by 𝑦 = 𝑥2 +1 and 𝑦 = 2𝑥 + 1 about 𝑥-axis is

a)
104π

15
 cu units b)

42π
15

 cu units c)
52π
15

 cu units
d)None of these

8. The area bounded by the curves |𝑥| +|𝑦| ≥ 1 and 𝑥2 + 𝑦2 ≤ 1 is

a) 2 sq unit b)𝜋 sq unit c) (𝜋 ― 2) sq unit d)(𝜋 + 2) sq unit

9. The area bounded by the curves 

 𝑦 = cos𝑥 and 𝑦 = sin𝑥 between the ordinance 𝑥 = 0 and 𝑥 =
3π
2

 is 

a) (4 2 ― 2)sq units b)(4 2 + 2)sq units c) (4 2 ― 1)sq units d)(4 2 + 1)sq units

10. Area bounded by the curves 𝑦 = [𝑥2

64
+ 2], 𝑦 = 𝑥 ― 1 and 𝑥 = 0 above 𝑥-axis is ([.] denotes the 

greatest integer function)

a) 2 sq unit b)3 sq unit c) 4 sq unit d)None of these

11. The area bounded by the curve 𝑦2 = 8𝑥 and 𝑥2 = 8𝑦, is
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a)
16

3
 sq. units b)

3

16
sq. units c)

14

3
 sq.units d)

3

14
 sq. units

12. The area enclosed between the curve 𝑦 = log𝑒(𝑥 + 𝑒)and the coordinate axis is

a) 4 sq units b)3 sq units c) 2 sq units d)1 sq unit

13. If area bounded by the curves 𝑦2 = 4 𝑎𝑥 and 𝑦 = 𝑚𝑥 is 𝑎2/3, then the value of 𝑚 is

a) 2 b) ―2 c) 1/2 d)1

14. The area of the figure bounded by the curves 𝑦 = |𝑥 ― 1| and 𝑦 = 3 ― |𝑥| is
a) 2 b)3 c) 4 d)1

15. The area bounded by the curves 𝑦 = 5 ― 𝑥2 and 𝑦 = |𝑥 ― 1| is

a) (5π
4
― 2)sq units b)

(5π ― 2)

4
 sq units c)

(5π ― 2)

2
 sq units d)(

π
2
― 5)sq units

16. Area bounded by the curve 𝑥 𝑦2 = 𝑎2(𝑎 ― 𝑥) and 𝑦-axis, is

a)𝜋 𝑎2/2 b)𝜋 𝑎2 c) 3 𝜋 𝑎2 d)2𝜋 𝑎2

17.
The area of the ellipse 

𝑥2𝑎2 +
𝑦2𝑏2 = 1, is

a)𝜋 𝑎𝑏 b)
𝜋
4

(𝑎2 + 𝑏2) c) 𝜋 (𝑎 + 𝑏) d)𝜋 𝑎2 𝑏2

18. The area bounded by the curve 𝑦 = 𝑥6(𝜋 ― 𝑥)8 is

a)
𝜋15 × 3! × 4!

15!
 sq unit b)

𝜋6 × 6! × 8!

15!
 sq unit c)

𝜋15 × 6! × 8!

15!
 sq unit d)

𝜋8 × 6! × 8!

15!
  sq unit

19. The part of circle 𝑥2 + 𝑦2 = 9 in between 𝑦 = 0 and 𝑦 = 2 is revolved about 𝑦-axis. The volume 

of generating solid will be

a)  
46

3
π   cu units b)12 π cu jnits c) 16 π cu units d)28 π cu units

20. The area of the region by curves 𝑦 = 𝑥log𝑥 and 𝑦 = 2𝑥 ― 2𝑥2 is

a)
1

2
 sq units b)

3

12
 sq units c)

7

12
sq units

d)None of these 

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114


